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ALGEBRA 1 W/ QUADRATIC EMPHASIS — FINAL EXAM REVIEW

Chapter 7 — Exponents and Exponential Functions

7.1 — Zero and Negative Exponents
7.2 — Multiplying Powers with the Same Base
7.3 — More Multiplication Properties of Exponents
7.4 — Division Properties of Exponents
7.6 — Exponential Functions
7.7 — Exponential Growth and Decay

CHAPTER 7 HOMEWORK: pg 479 #1-5, 14-18, 20

Slmphfy each expressmn Use ositive exponents,
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Graph each function. Plot as many points as you can on the graph provided.
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O 17 A populatlon of 2000 ﬁsh increases at an. annual Tate of
B 7 5% How many fsh wdl there be i in 10 years?
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: Does the o\{ponential functlon represent glowth or decay’?

Estlmate the dxfference between fimshm g tlmes in 1990‘?
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19 Suppose you. dep051t $2000 in a savings aceount that pays
' '5,3% interest eomponnded annually. How much wili you
have in your account after 8 years?
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20. Suppose you dep051t $1525 in ¢ an mvestment account that
pays 3.25% interest compounded annually ‘How.many
more years wdl it take untll you have over $2500 in n your
-account? - o : -




Chapter 8 — Polynomials and Factoring

8.1 — Adding and Subtracting Polynomials
8.2 — Multiplying and Factoring
8.3 — Multiplying Binomials
8.4 — Multiplying Special Cases
8.5 — Factoring x* + bx + ¢
8.6 — Factoring ax® -+ bx + ¢
8.7 — Factoring Special Cases

CHAPTER 8 HOMEWORK: pg 539 #1-20,25

Slmphfy each sum or difference, .
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Chapter 9 — Quadratic Functions and Equations

9.1 — Quadratic Graphs and Their Properties
9.2 — Quadratic Functions
9.3 — Solving Quadratic Equations
9.4 — Factoring to Solve Quadratic Equations
9.5 — Completing the Square
9.6 — The Quadratic Formula and the Discriminant
9.7 — Linear, Quadratic, and Exponential Models
9.8 — Systems of Linear and Quadratic Equations

3% ____CHAPTER 9 HOMEWORK: pg 607 #1-22

etry and the coordinates of the vertex of the graph of each functron
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: Graph each functlon Plot as many pomts ﬁt on the graph prov1ded and ﬁil in the mlssmg 1nformatron
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Solve the system of equations.
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: Solve each equatlon by complet:ng the square If necessary, round to the nearest hundredth
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' 'Solve each equatlon by usmg square roots.
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Solve each equation by using the quadratic formula. If necessary, round to the nearest hundredth,
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Solve each gguation by using factoring.
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: 2;5-.) A Sqoirrol drops an acorn from a tree thatis =~
:35feet high, The height of the acorn can be -

'-modeled by h=-16t> +35, where h is the - o

- height in feet and t is the time in seconds. -
.Estlmate the amount of time it takes for the
- ‘acorn to hit the ground. Round to the nearest
: hundredth of a second. :

EE .26 )A ball is thrown into the air w1th an mma] upward veloolty of

+ 60 fi/s, Its height h in feet after t seconds is gwon by the -
functlon h =~1 6t° +60¢ + 6. &g@ {’ ﬁ '
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Chapter 10 — Radical Expressions and Equations

10.1 — Pythagorean Theorem
10.2 — Simplifying Radicals

10.3 — Operations with Radical Expressions
10.4 — Solving Radical Equations

CHAPTER 10 HOMEWORK: pg 657 #1-21, 25-26

Use the triangle at the right. Find the length of the missing side.
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1 5 A sxde of a Rubxk’s cube has a surface area of 224 square
N rmlhmeters ‘What is the length of each slde of the Rublk’
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Simplify each radical expression,
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Chapter 11 — Rational Expressions and Functions

I'1.1 - Simplifying Rational Expressions
11.2 — Multiplying and Dividing Rational Expressions
wdS—-Piniding Rolynomials-
11.4 — Adding and Subtracting Rational Expressions
11.5 — Solving Rational Equations
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CHAPTER 11 HOMEWORK: pg 719 #8-14, 14-19

Simplify each expression. State any excluded values
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'-Solve each equation/word probiem Check your squtmns - '
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R 20 Y vanes mversely thh xand y = 11 ] 21 It takes Jalen 5 hOI.IlStO decorate the SR
[ when X= 9 What is the value. of y when o gym for Homeeommg Gracecan .- |01
S x = =3, o o _ : ".decorate the gym in 4 hours while David | - 7
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j:‘ § g&% Sl
A ﬁ .@ﬁ “? ':5’”* N N@




